Completa los huecos con los signos y los resultados que correspondan :
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3-8=
-8+6=
-2-9=
+3-5=
—(-8) =
—-(+12) =
+(—6) =
+(+7) =
(-7 +2=
5-3=
7-(-2)=
3-(-8)=
-3-(-8) =
3.(=8) =
(=3)-8=
(-8):(-2)=
(-8)+(-2) =
-9-2=
—-9—(-2) =
-l =
=35 B
(=3)-(+8) =
(=6):(-2) =

-(-H+ (-8 =

(-8) - (-2) =

S
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(27)
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(29)

(30)

(31)

(32)

(33)

(34)

(35)

(36)

(37)
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(39)

(40)

41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

wJ0: (=2 =
(=7 —-(+4) =
+5-2-8=

e i B
—4+8-2+6=
-546-3-2=
+9-2+3-6-9=
T7—-6=

(-8)-(-2)=

(=) +(—-2)=(-06) =
(~3)—(#8)—(~3)=
-4 -(-9)-(+2)=
—(—15) - (+12) =

(+8) +(-2) =
(+12) : (=6) : (=2) =
(—3)-{—6):(=2)=
(-12) : (+6) - (-2) =
243 (—4) =
(—=2)=3+(=4)=
6+(-2) (+8) =
(-3)-4+2-(+3) =
(-3)-4-2—(+3) =
(~8):4+(=3)-(+3) =
(-8)—=4+(=5)-2-(-7)=
(~10) - (+5)~2-(—=1T) =

MiguemAaticas
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